[ Efficien

cy vs vertpos |

- 05

20.45

4

2 04

(8]

§0.35

[

£ 03
0.25

0.95

102

[Efficiend —— DQMV0001R000000001 —Global —CMSSW_pi075
—— DOM_V0001_R000000001_Global _CMSSW_pl07

10 1 10 0?
TP vertr (cr%)

—s— DQM_VUUUI_RUUUU0U000T _Global —_CMSSW 071G
—— DQM_V0001_R000000001__Global _CMSSW _pl08

...... A
L L
""" A U S VY S

..%ﬁ'. .i....i....l...gﬁi....

il
Ll

~ 0.5
20.45
2]
> 0.4
>
2
$0.35
(8]
£ 0.3
()
0.25
0.2
0.15
0.1:—
0.05F
o o
S [
o [
=
0.957

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

................................................

..............................

................................

N 0.5p
> E
D—_ 0.45:—
e E
D 0.45—
20.35F
L>)~ E
c 0.3F
[©] o
[} F
£ 0.25
£ E
0.2}
0.15F
0.1
0.05F
o ~of
T i
r [
0255

-5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


